ﬂé Subtraction With Tape Diagram Name:

Solve each problem using a tape diagram.

1)

2)

3)

4)

5)

6)

7)

A farmer had 54 tomatoes in his garden. If he picked 11 of them, how many would he have
left in the garden?

Cody has $68. He decides to spend $22 on new video game. How much money would he
have left?

Tiffany had 57 pieces of candy. 11 pieces are chocolate and the rest are sugary. How many
pieces of candy does Tiffany have that are sugary?

A clown had 84 balloons. He gave 47 away at a party. How many balloons would he have
left over?

There were 57 people on the train. At the first stop 33 people got off. How many people are
left on the train?

While playing a game Henry had 59 lives. He lost 19 lives on a hard level. How many lives
does he have | eft?

A waiter has 55 customers. If 22 left, how many customers would the waiter still have?

Answers
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Subtraction With Tape Diagram Name:

Answer Key

Solve each problem using a tape diagram.

1)

2)

3)

4)

5)

6)

7)

A farmer had 54 tomatoes in his garden. If he picked 11 of them, how many would he have
left in the garden?

54
N\

11 | ?

Cody has $68. He decides to spend $22 on new video game. How much money would he
have left?

68
VAN

22 | ?

Tiffany had 57 pieces of candy. 11 pieces are chocolate and the rest are sugary. How many
pieces of candy does Tiffany have that are sugary?

57
VAN

11

A clown had 84 balloons. He gave 47 away at a party. How many balloons would he have
left over?

84
/\

a7

There were 57 people on the train. At the first stop 33 people got off. How many people are
left on the train?

57
VAN

33

While playing a game Henry had 59 lives. He lost 19 lives on a hard level. How many lives
does he have | eft?

59
VAN

19 | ?

A waiter has 55 customers. If 22 left, how many customers would the waiter still have?

55
VAN

22 | ?

Answers
1 43
2. 46
3 46
a. 37
5, 24
6. 40
7 33
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